VCE & PDF https://www.passapply.com/mcd-levell-delta.html
2024 Latest passapply MCD-LEVEL1-DELTA PDF and VCE dumps Download

PassApply.com

MCD-LEVEL1-DELTAQAS

MuleSoft Certified Developer - Level 1 (Mule 4) DELTA

Pass Mulesoft MCD-LEVEL1-DELTA Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.passapply.com/mcd-levell-delta.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Mulesoft
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest MCD-LEVEL1-DELTA Dumps | MCD-LEVEL1-DELTA PDF Dumps | MCD-LEVEL1-DELTA Exam Qug8tions


https://www.passapply.com/mcd-level1-delta.html
https://www.passapply.com/mcd-level1-delta.html
https://www.passapply.com/mcd-level1-delta.html

VCE & PDF https://lwww.passapply.com/mcd-levell-delta.html
2024 Latest passapply MCD-LEVEL1-DELTA PDF and VCE dumps Download
PassApply.com

QUESTION 1

What DataWeave 2.0 type can be used as input to a mapObject operation?
A. Array

B. Object

C. String

D. Map

Correct Answer: B

QUESTION 2

What is not an asset?

A. Exchange

B. Template

C. Example D. Connector

Correct Answer: A

QUESTION 3

What is the face of CloudHub and integrates with Platform Services?
A. None of these

B. Runtime Manager Console

C. Integration Apps

D. CloudHub Workers

Correct Answer: B

QUESTION 4

Refer to the exhibits.

A web client sends sale data in a POST request to the Mule application. The Transform Message
component then enrich the payload by prepending a vendor name to the sale data. What is written to the

sales.csv file when the flow executes?
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<’zml version="1.0" encoding="UTF-8"7- * writeRecords
etoles

stransaction_id=55-4848 -44KK-45Y0< t ransaction _1d=
ccustomer_ 1 dyonniepol rtBocme . come/ cus tomer_{ ds —_—s —_—r O—
coustomer=Annie Point</customers

<itemsCar Seot</{ters
cgtysle/qty> HTTP: POST /salas Add vendor name | Fite: sales.csv

sprice=S8</prices
&

/a0l
* Error handling

«flow nomes="writelecords” >
chttp:listener doc:nomes"HTTF: POST Asaoles” config-ref="HTTP_Listenear_config"
pothe “/sples" ol towedMethodss= "POST />
<egltransfarm doc:nome="ddd vendor name- >
LERMELSAgE >
<eeiset-poyload ><! [COATAXdw 2.0
output application/json
{vendor! "Acme"} ++ paylood.sale]]s
</ee;set-pay loads
</ eeImessnges
< eg: tronsform
<file:write doc:nome="File; sales.csv" poth="file-store/sales.csv">
< fileiwrites
</ Flows

A. The enriched payload in JSON format
B. The enriched payload in XML format
C. The enriched payload in CSV format
D. An error message

Correct Answer: A

QUESTION 5
A company has an API to manage departments, with each department identified by a unique deptld.

The API was built with RAML according to MuleSoft best practices. What is valid RAML to specify a method to update
the details for a specific department?
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A
/Jdepartments:
/deptld:
patch:
fdepartments:
patch:
fdeptId:
& /departments:
patch:
queryParameters:
deptld:
D.
/departments:
/{deptld}:
patch:
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 6

Refer to the exhibit.
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&= order.xml Output Payload - = / U
3 ! E # i " il * 1= %dw 2.0 [
f,le version="1.8" encoding="UTF-8"7> ] © output applicetion/json i
=DFOEr 2 5
3 =a= "index": @
<itew orderld="592"= “orderTd": "'55‘2"
<shipping-international</shippings St canbiamn > ‘T—sl:i.r't "
<item=T-shirt Novy</itaems "1Lna1tmn:-1ce"' 28 '
<gizesl efsizes ; :
<quantity>=l</guontity> {'
<pri ce>2@</prices "index": 1
</ 1 tems Pt
"arderld”: "972"
<item orderld="972"- [:} "{temhome" '(nr;ﬂ Shorts"
<5M pping-domestic</shipping= “1inel P;“E.._ 60 .
<item=Corgo Shorts</items 1 1
<5l zosXl < /5l zos 3
<quantity>=2</guontity>
<price>3</price>
</ tems
<forders
Context |payload 2
What Database expression transforms the input to the output?
A payloed.order. *ztem map | {value;index) —>
index: inodex,
orderTd: value,ordexld,
itemMame: value.Ztem,
lineTtemPrige: (valuc.price as rmomber) * (valus.guantity as inumber)
| ¥
B. payload.order.*2tem map { {(value,index) =-»
index: index,
erderId: walue.BorderId,
Ltemiame: valuoe.itsm,
linsItemPrice: (valus.price &3 Wamber] * (valuvs.guantity &5 Number)

13

c. paylead.arder. Sitem map | (valoe, shdex) —>
imdax: index,
grocrTd: vaiue. fnrderid,
itembams=: ygaloe.item,
lineTtemPrics: (valuoe.price aza :nmbar) * (yalos.goantity as :nuomber)
1}
b
payload.crder,*ztem map| [(valie,index) —> [
indexs: Index,
prderlds: value,ocrderld,
itemiiame: valoe.:bem;
lineIcemPrice: (valus.price an Fumber] * (values.quancity an Number)
I
A. Option A
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B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 7

In the Database On Table Row operation, what does the Watermark column enable the On Table Row operation to do?
A. To save the most recent records retrieved from a database to enable database caching.

B. To enable duplicate processing of records in a database.

C. To avoid duplicate processing of records in a database.

D. To delete the most recent records retrieved from a database to enable database caching.

Correct Answer: C

QUESTION 8

Which one of them is NOT a flow in Mule?
A. sync flow

B. subflow

C. async flow

D. async sub flow

Correct Answer: D

QUESTION 9

What HTTP method in a RESTful web service is typically used to completely replace an existing resource?
A. GET

B. PATCH

C. POST

D. PUT

Correct Answer: D
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QUESTION 10

Refer to the exhibit.

¥ main

HTTP; GET / HTTP; POST fdata JWAE: mum't JMS: pum2 payload + 1

&
* Emor handiing
* himp * imsl ¥ jms2
-©@ 6060 00
HTTR: PI;ET foats 1 JME:--T-'II.IM'I payload + 1 JHS:_r;lumE payioad + 1

&

* Errar handling * Errar handling * Error handling

<fFLow nome="main">
<nttp:listener doc:nome="HTTP: GET /" config-ref="HTTP_Listener_config" path="/" />
<http:reguest method="POST" doc:name="NTTP: POST Adota™ url="http:/locolhost: BR1 data /s
<jms:publish-consume doc:nome="JM5: auml" config-ref="JMS Config" destination="numl"/ >
<jms:publish doc:ngmes"IMS: pume” config-ref="JIHS_Config” destinotions “mms"/=
=set-paylood volue="#paylood + 1]" doc:nome="poyload + 1" />

</ Tlows

What payload is returned from a request to http//localhost.8081/

Refer to the exhibits, what payload is returned from a request to http://localhost;8081/?
Al

B.2

C.3

D.4

Correct Answer: C
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QUESTION 11

In an application network. If the implementation but not the interface of a product API changes, what needs to be done
to the other APIs that consume the product API?

A. The applications associated with the other APIs must be restarted

B. The applications associated with the other APIs must be recoded

C. The other APIs must be updated to consume the updated product API

D. Nothing needs to be changed in the other APIs or their associated applications

Correct Answer: D

QUESTION 12

What path setting is required for an HTTP Listener endpoint to route all requests to an APIKkit router?
A 1Y)

B./

C. 10

D. /*

Correct Answer: D

QUESTION 13

An SLA based policy has been enabled in APl Manager. What is the next step to configure the API proxy to enforce the
new SLA policy?

A. Add new property placeholders and redeploy the API proxy

B. Add new environment variables and restart the API proxy

C. Restart the API proxy to clear the API policy cache

D. Add required headers to the RAML specification and redeploy the new API proxy

Correct Answer: D

QUESTION 14
http://dev.acme.com/api/patients?year=2016

What should this endpoint return?
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A. Patient with id 2016

B. All patients

C. No patients

D. Patients from year 2016

Correct Answer: D

QUESTION 15

What is the trait name you would use for specifying client credentials in RAML?
A. headers

B. client-id

C. client-id-required

D. we do not specify in RAML

Correct Answer: C
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